Stalin & the Soviet Economy – Collectivisation

Chapter 8 pages 200-210 

“We refused to be beaten…We are fifty or a hundred years behind the advanced countries. We must make good this distance in ten years. Either we do it, or we shall be crushed…”  (Stalin, 1931) 

Stalin’s Economic Aims

1. What were Stalin’s economic aims and motives?  Explain “Revolution from above” and the “Second Revolution”.

2. Why was modernization essential? How was it linked to “socialism in one country”?

Collectivisation

“We must break down the resistance of the kulaks and deprive this class of its existence…we must smash the kulaks…”  (Stalin to the Party Congress December 1939) 

3. How did Stalin plan to pay for industrialisation?

4. Identify the Kolkhozy & the Sovkhozy. 

5. Who were the Kulaks and what was their role in Stalin’s plans?  

6. What was Stalin’s view of the peasants?  Explain Stalin’s formula with respect to surplus peasants and grain. Was the formula correct?  

Impact of Collectivization 

The 1937 census showed there were 19 million peasant households in the USSR compared to 26 million in 1929. 

“There are hundreds of people bloated with hunger. I don’t know how many die every day. Many are so weak they no longer come out of their houses. A wagon goes round…to pick up the corpses. We’ve eaten everything we could lay our hands on…The trees have been stripped of their bark… and the horse manure has been eaten…We fight over it. Sometimes there are whole grains in it.”  (Ukrainian peasant)

7. Identify the OGPU & De-kulakisation.  Why significant?

8. How did the peasantry try and resist? 

9. Explain the significance of Stalin’s “dizzy with success” comments. Comparison of collectivised farms in 1930 and 1941 (percentages)

10. What was the impact of collectivisation on the peasantry? Key food consumption & livestock statistics?

11. Explain the Official Silence with respect to the famine. View of Stalin’s wife Nadezhda Alliluyeva? What does the silence reveal about Stalin’s rule? 

Collectivisation Justified? 

12. Was collectivisation justifiable on economic grounds? Explain.

13. A success for Stalin? Why or why not?
